d’o / d N*d pi™ [pb/GeV]

Ratio to ATLAS

1072

1073

1074

0.5

13000 GeV pp ff
_| i I T I T I T T | I T I . I . |_ 1%
C
— top . . —Ho
P; (ATLAS semileptonic ttbar) >
— — 2
— EE=
- i
- A
- s
—i
i 1
. %
— B —] E
- —.=
- o
— — ,6'
— =k
L <
L )
- 18
B B ATLAS — 3
---0-- Pythia 6.428 345 E
— i+ Pythia 6.428 346 —%
— —4— Pythia 6.428 370 = =
B Pythia 6.428 default <
| —— Pythia 8.308 default 18
[%2]
o
= — O
— = o
- ' — | | | | | H £
:| T 1 T T | 1 t } |:
3 32
1
B —0.5
| 1 1 1 1 . | N | . | ) . ) |
0 500 1000

pfl,_had [GeV], I\IEtS -5



	Contents
	Page 1


